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A. HINH THUC KIEM TRA
* Hinh thirc ra dé : Trac nghiém hoan toan,50 cdu/ mdi cau 0.2d, thoi gian 1am bai 60 phit

* Gigi han cha dé doc hiéu va tir vung & cac Unit 3,4,5( bam sat sach gido khoa, sach bai tap va dé
cuong bai tap)

* Ngtr phap : Verbs with Preposition, Present Perfect, Double Comparatives, Compound and
Complex sentences

B. NOI DUNG ON TAP

1. Phat am (Pronunciation): 3 cau (ndm trong 3 Unit 3,4,5)
2. Dau nhan (Stress): 2 cau (nam trong 3 Unit 3,4,5)
3. Tim 13i sai (Error Identification): 3 cdu (theo diém ngit phap trong 3 Unit 3,4,5)
4. Pong nghia (Synonym): 2 cau (nam trong 3 Unit 3,4,5)
5. Trai nghia (Antonym): 2 céu (nam trong 3 Unit 3,4,5)
6. Bai doc ( Advertisement or Announcement): 4 cau (theo cha dé nam trong 3 Unit 3,4,5,
theo dang tir riéng I€)
7. Bai doc (Guided Close): 5 cau (theo chi d& nam trong 3 Unit 3,4,5, theo dang cum tir)
8. Bai doc hiéu (Reading & Comprehension): 5 ciu (theo cha d& nam trong 3 Unit 3,4,5)
9. Bai doc hiéu (Reading & Comprehension): 7 cau (theo cha d& nim trong Unit 3,4,5)
10. Sap xép ( Rearrangement): 5 cau ( tir d& dén kho)
a,b,c — ab,cd - ab,c,de - ab,cdef - ab,cde,f
11. Ttr vung: 12 céu (nam trong 2 Unit 4,5) (Theo ti 1& 6-6)
C. CAU HOI ON TAP HOAC PE ON TAP
TIENG ANH 12 GLOBAL SUCCESS

UNIT 3: THE GREEN MOVEMENT
PRACTICE TEST 3

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other
three in pronunciation in each of the following questions.

1. A peel B. engineer C. volunteer D. pioneer

2. A. diagnose B. groceries C. decompose D. popular



Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position
of the primary stress in each of the following questions.

3. A. recyclable B. automatic C. predictable D. sustainable
4. A. material B. packaging C. variety D. container
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
5. We always store in the fridge to avoid food waste.

A. landfill B. household waste C. leftover D. ecotourism
6. The cake had a thick of chocolate icing on top.

A. resource B. ecotourism C. layer D. awareness

7. Proper separation of Is important for efficient recycling.

A. landfill B. household waste  C. carbon footprint  D. fruit peel

8. can be added to the compost pile to enrich the soil.

A. Fruit peel B. Resource C. Container D. Waste

9. At the recycling center, all the materials are into different categories.

A. cleaned up B. decomposed C. sorted D. released

10. The plastic bottles were to make new products.

A. recycled B. cleaned up C. got rid of D. threw something
away

11. Factories that burn fossil fuels have large amounts of CO2 into the atmosphere.
A. rinsed out B. released C. cleaned up D. decomposed
12. Leaving the lights on when nobody is in the room is electricity.

A. a waste of B. sorted C. decomposed D. reused

13. The company decided to by using renewable energy sources.

A. go green B. release C. rinse out D. get rid of

14. She finally all the old magazines that were piling up.

A. got rid of B. raised awareness C. rinsed out D. decomposed
15. Before recycling the can, he to remove any residue.

A. got rid of B. rinsed out C. sorted D. decomposed
16. Make sure to the milk jug before placing it in the recycling bin.

A. rinse out B. throw something away

C. raise awareness D. release

17. Plastic straws are an example of items that contribute to waste.

A. recyclable B. efficient C. single-use D. sustainable
18. Glass and aluminum cans are materials that can be processed and used again.
A. eco-friendly B. contaminated C. recyclable D. efficient

19. The water supply was by harmful chemicals.

A. reusable B. efficient C. contaminated D. eco-friendly
20. Farmers are adopting more practices to preserve the environment.

A. sustainable B. eco-friendly C. efficient D. reusable

21. The water has become undrinkable because it has been_with lead.

A. sorted B. decomposed C. recycled D. contaminated
22. They extensive research on the environmental effects of using fake Christmas trees.
A. turned off B. carried out C. look after D. applied for
23. Electric cars are generally more friendly than cars running on petrol.

A. eco B. ecology C. ecology's D. ecological
24. We all agreed a plan to make our classroom greener.

A. for B. in C.of D.on



Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
25. Household waste can lead to indoor pollution if it is not treated properly.

A. leftovers B. rubbish C. compost D. landfill
26. Names of people in the book were changed to preserve anonymity.
A. cover B. conserve C. presume D. reveal

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined
word(s) in each of the following questions.
27. The river is so contaminated that it smells like rotten eggs.

A. dangerous B. beautiful C. polluted D. clean
28. Don't forget to turn off the lights when you leave the room.
A. switch on B. switch off C.turnup D. turn down

Mark the letter A, B, C or D to indicate the correct response to each of the following exchanges.
29. John and Mary are talking about what to do after class.

- John: “ ” - Mary: “Yes, I’d love to.”

A. Do you often have time for a drink after class?

B. Would you like to have a drink after class?

C. Do you often go out for a drink after class?

D. Would you like tea or coffee after class?

30. Paul and Daisy are discussing life in the future.

- Paul: “I believe space travel will become more affordable for many people in the future.”

- Daisy: “ 7
A. It doesn’t matter at all. B. There’s no doubt about that.
C. It is very kind of you to say so. D. I am sorry to hear that.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the

following questions.

31. My favorite place (A) in the world is (B) a small city (C) is located (D) on the southern coast of
Brazil.

32. (A) The fence (B) surrounded our house (C) is (D) made of wood.

33. He (A) comes from Venezuela, (B) that is (C) a (D) Spanish- speaking country.

34. Ecotourist (A)promotes responsible (B)travel to natural areas, supporting (C)conservation
efforts and benefiting local communities.(D)"

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.

35. The man who was handsome worked in Hollywood.

A. The man handsome worked in Hollywood.

B. The man who handsome worked in Hollywood.

C. The handsome man worked in Hollywood.

D. The man, who was handsome, worked in Hollywood.

36. The students who study at our school come from all over the world.
A. The studying students at our school from all over the world.

B. The students studying at our school come from all over the world.

C. The students who are studying at our school come from all over the world.
D. The students, who study at our school, come from all over the world.

37. The cake that was selected yesterday came from an Italian bakery.
A. The selected cake yesterday that came from an Italian bakery.



B. The cake selected yesterday came from an Italian bakery.

C. The cake yesterday which was selected came from an Italian bakery.
D. The selected yesterday cake came from an Italian bakery.

38. Seattle, which is famous for its seafood, is a beautiful city.

A. Seattle famous for it's seafood is a beautiful city.

B. Seattle, famous for its seafood, is a beautiful city.

C. Seattle is famous for its seafood is a beautiful city.

D. Seattle, that is famous for seafood, is a beautiful city.

39. The towels that are on the chair can be used in the club showers.
A. The on the chair towels can be used in the club showers.

B. The towels on the chair can be used in the club showers.

C. The towels, which are on the chair, can be used in the club showers.
D. The towels, that are on the chair, can be used in the club showers.
40. The men that are working on the project come from India.

A. The men working on the project come from India.

B. The working men on the project come from India.

C. The men whom are working on the project come from India.

D. The men, working on the project, come from India.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 31 to 35.

Plastic is putting a strain on waste management systems, our oceans, and vulnerable communities
the world over. A wave of single-use plastic bans is sweeping the country and the globe—most often
on plastic bags, straws, stirrers, and takeout clamshells. Some places are going so far as to ban single-
use plastics entirely; most notably, India intends to go this route by 2022. Among the U.S. cities to
outlaw plastic straws are Malibu, Berkeley, Seattle, and Miami Beach. Plastic bag bans—ideally
accompanied by a fee on paper bags—are also catching on. New York State and Hawaii just passed
theirs, set to go into effect in 2020, and California’s bag ban, which was passed in 2014, has been
shown to have reduced plastic bag usage by 85 percent (with some customers opting to pay a 10 cent
fee for thicker plastic bags) and has reduced coastal pollution.

What do the bans accomplish? They prevent millions of tons of plastic from entering the waste
stream each year. And when it comes to waste that lasts forever, every ton counts. In New York, 23
billion plastic bags are used by residents each year. Not only does banning single-use plastic reduce
pollution, but it also reduces demand for plastic production that’s contributing to global climate
change. But beyond these impacts, the bans have cultural effects. Companies are forced to innovate,
rethinking their designs and sourcing sustainable materials. And they help shift consumer mind-sets,
as people begin to recognize that exorbitant and avoidable waste is not sustainable.

(Adapted from: https.//www.nrdc.org/)
41. Which could be the best title for the passage?
A. Waste Management Systems
B. New York State and Hawaii just passed their laws.
C. Should We Ban Single-Use Plastics?
D. Companies and Sustainable Materials
42. The word “route” in paragraph 1 refers to .
A. way B. role C. scene D. hall
43. According to the passage, California’s bag ban
A. will go into effect in 2020
B. has reduced plastic bag usage by 85 percent
C. has increased the use of thicker plastic bags


https://www.nrdc.org/

D. has worsened coastal pollution

44. Which of the following is TRUE about single-use plastic ban as stated in the passage?
A. Banning single-use plastic cannot reduce demand for plastic production.

B. It makes New Yorker use 23 billion plastic bags every year.

C. Banning single-use plastic reduces pollution and has cultural effects.

D. It gives companies chances to make more money with sustainable materials.

45. The word “avoidable” in paragraph 2 mostly means

A. available B. acceptable C. reasonable D. preventable

Read the following passage and mark the letter A, B, C or D to indicate the correct word or
phrase that best fits each of the numbered blanks.
Poor farmers use the same land over and (46) The land needs a rest so it will be
better next year. However, the farmers must have food this year. Poor people cut down forests (47)
firewood. In some areas when the trees are gone, the land (48) desert.
Poor people can’t save the environment for the (49)
This is not a problem for one country or one area of the world. It is a problem for all- humans. The

people and the nations of the world must work together to (50) the world’s resources.
46. A. over B. again C. repeatedly D. repeating

47. A. of B. for C. with D. at

48. A. gets B. changes C. turns D. becomes

49. A. future B. time being C. times D. period

50. A. recycle B. preserve C. keep D. reuse

UNIT 4: URBANISATION
PRACTICE TEST 3

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position
of the primary stress in each of the following questions.

1. A. casual B. target C. urban D. dweller

2. A architecture B. infrastructure C. unemployment D. agriculture

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other
three in pronunciation in each of the following questions.

3. A. dweller B. electric C. resident D. leisure
4. A. urbanise B. transport C. advance D. challenging

Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

5. Not many young people can a flat, let alone a house in a big city.
A. afford B. affect C. increase D. expand
6. Over the past ten years, my town has rapidly into a city as more areas have been
urbanized.
A. decreased B. expanded C. remained stable ~ D. gone down
7. Many young people leave their hometowns and better jobs in big cities.
A. leave B. decrease C. seek D. change
8. The city's leaders have promised to provide more affordable for all residents.
A. employment B. occupation C. housing D. relaxation

9. Let's have lunch so we can talk at
A. amusement B. leisure C. relaxation D. industry



10. Although he had been a of the UK for many years, he had his application for British
citizenship turned down.

A. native B. foreigner C. resident D. immigrant
11. There is a big increase in youth as young people struggle to find jobs.
A. employment B. occupation C. relaxation D. unemployment
12. The urban population is increasing whereas the population in rural areas
A. rises B. increases C. stabilizes D. declines
13. During many drivers get stuck in heavy traffic.
A. rush hour B. off-peak C. downtime D. quiet hour
14. Trains in the UK are not very as they are often cancelled or delayed.
A. dependable B. consistent C. reliable D. erratic

15. The Hanoi Opera House was built at the beginning of the 20th century when Vietnam was under
French rule.

A. strict B. colonial C. controlled D. dependent

16. The government has spent $10 million to and improve the railway network in the area.
A. build B. increase C. modernise D. change

17. Local residents expressed __ about the increasing air pollution in the areas near the
construction site.
A. interest B. effect C. duty D. concern

18. The rapid of the once rural area led to the construction of numerous high-rise buildings
and improved infrastructure.
A. urbanisation B. housing C. infrastructure D. urban sprawl

19. During weekends, he enjoys spending his time hiking in the nearby mountains.
A. leisure B. convenience C. ecotourism D. trend

20. There is growing about the environmental impact of the new industrial zone.
A. concern B. respect C. trend D. globalisation

21. The city's unchecked has led to the loss of green spaces and increased traffic congestion.
A. urban sprawl B. packaging C. identity D. rush hour

22. The subway station was so during rush hour that it was difficult to find a seat.
A. crowded B. reusable C. cross-cultural D. delicious

23. Finding housing in the city center has become increasingly challenging due to rising
prices.
A. affordable B. recyclable C. connected D. staple

24. The old city still retains its charm with beautiful architecture lining the streets.
A. colonial B. sustainable C. contaminated D. delicious

25. lowna store, and tobacco is one of the many products that we sell.
A. reliable B. reusable C. multicultural D. convenience

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
26. A lack of affordable housing is a cause of concern for many city dwellers.
A. factor B. change C. worry D. benefit
27. The urban population is increasing rapidly because more and more people from the countryside
are moving to cities.
A. very slowly B. very quickly C. gradually D. slightly

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined
word(s) in each of the following questions.
28. Every year, millions of people from the countryside move to urban areas.



A. rural B. disadvantaged C. modern D. developed
29. The city we live in is expanding, and more high-rise buildings are being built here.
A. getting bigger B. getting smaller C. changing D. growing

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.

30. She gets fat. She feels tired.

A. The fatter she gets, the more tired she feels.

B. The fatter she gets, the more tired she feels.

C. The fatter she gets, the tireder she feels.

D. The fatter she gets, the tireder she feels.

31. My boss works better when he is pressed for time.
A. The presser time my boss has, the better he works.

B. The more time my boss has, the better he works.

C. The less time my boss has, the better he works.

D. The more time my boss has, the better he works.

32. He speaks too much and people feel bored.

A. The more he speaks, the less bored people feel.

B. The less he speaks, the more bored people feel.

C. The much he speaks, the more bored people feel.

D. The more he speaks, the more bored people feel.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.

33. The fastest you drive, the greater you get.

A. B C D
34. This exercise is much more easier than the others.
A B C D
35. Don’t you think this is most boring film you have ever seen?
A B C D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.

36. The more money Peter makes, the more his wife spends.
A. Peter spends more money than his wife.

B. Peter and his wife both make money.

C. Peter spends the money his wife makes.

D. Peter’s wife keeps spending more money.

37. The book interested me more than the film.

A. | thought the book was more interesting than the film.

B. In my opinion the film was not as interested as the book.

C. I thought the book didn’t interest me as the film.

D. In my opinion the film bored me than the book.

38. No one in the team can play better than John.

A. John plays well but the others play better.

B. John as well as other players of the team plays very well.

C. Everyone in the team, but John, plays very well.

D. John is the best player of the team.



Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

Urbanization is a process whereby populations move from rural to urban area, enabling cities
and towns to grow. It can also be termed as the progressive increase of the number of people living
in towns and cities. It is highly influenced by the notion (39) cities and towns have achieved
better economic, political, and social mileages compared to the rural areas.

Accordingly, urbanization is very common in developing and developed worlds as more and
more people have the tendency of moving closer to towns and cities to (40) “privileged”
social and economic services as well as benefits. These include social and economic advantages such
as better education, health care, sanitation, housing, business opportunities, and transportation.

(41) of people move to cities and towns because they view rural areas as places with
hardship and backward/primitive lifestyle. (42) , as populations move to more developed areas
(towns and cities) the immediate outcome is urbanization. This normally contributes to the
development of land for use in commercial properties, social and economic support institutions,

transportation, and residential buildings. Eventually, these activities raise (43) urbanization
issues.

(Adapted from https://www.conserve-energy-future.com/)

39. A that B. this C. there D. here

40. A. prompt B. resist C. pretend D. acquire

41. A. Majority B. Amount C. Crowd D. Quantity

42. A. Moreover B. Unless C. Therefore D. Although

43. A. emotional B. several C. punctual D. crucial

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

It is estimated that by 2050 more than two thirds of the world’s population will live in cities,

up from about 54 percent today. While the many benefits of organized and efficient cities are well
understood, we need to recognize that this rapid, often unplanned urbanization brings risks of
profound social instability, risks to critical infrastructure, potential water crises and the potential for
devastating spread of disease. These risks can only be further exacerbated as this unprecedented
transition from rural to urban areas continues.
How effectively these risks can be addressed will increasingly be determined by how well cities are
governed. The increased concentration of people, physical assets, infrastructure and economic
activities mean that the risks materializing at the city level will have far greater potential to disrupt
society than ever before.

Urbanization is by no means bad per se. It brings important benefits for economic, cultural and

societal development. Well managed cities are both efficient and effective, enabling economies of
scale and network effects while reducing the impact on climate of transportation. As such, an urban
model can make economic activity more environmentally-friendly. Further, the proximity and
diversity of people can spark innovation and create employment as exchanging ideas breeds new
ideas.
But these utopian concepts are threatened by some of the factors driving rapid urbanization. For
example, one of the main factors is rural-urban migration, driven by the prospect of greater
employment opportunities and the hope of a better life in cities. But rapidly increasing population
density can create severe problems, especially if planning efforts are not sufficient to cope with the
influx of new inhabitants. The result may, in extreme cases, be widespread poverty. Estimates suggest
that 40% of the world’s urban expansion is taking place in slums, exacerbating socio-economic
disparities and creating unsanitary conditions that facilitate the spread of disease.



The Global Risks 2015 Report looks at four areas that face particularly daunting challenges in
the face of rapid and unplanned urbanization: infrastructure, health, climate change, and social
instability. In each of these areas we find new risks that can best be managed or, in some cases,
transferred through the mechanism of insurance.

(Adapted from https://www.zurich.com/)

44. Which is the most suitable title for the passage?

A. Infrastructure and Economic Activities in Cities

B. The Risks of Rapid Urbanization in Developing Countries

C. What has Driven Rapid Urbanization?

D. The Global Risks 2015 Report on Developing Countries

45. The word “spark” in paragraph 3 is closest in meaning to

A. return B. justify C. start D. extend
46. The word “influx” in paragraph 4 is closest in meaning to
A. inflow B. income C. influence D. instance

47. Which statement is TRUE, according to the passage?

A. About 54% of the world’s population will live in cities by 2050.

B. Risks cannot be addressed effectively no matter how well cities are governed.

C. Urbanization brings important benefits for development as well.

D. Rapidly increasing population density can help solve poverty.

48. According to the passage, why does urban expansion facilitate the spread of disease?
A. Most of the world’s urban expansion is taking place in slums.

B. Too many people hope for a better life in cities.

C. Employment opportunities in cities are greater.

D. Poverty cannot be eliminated thoroughly.

Mark the letter A, B, C or D to indicate the correct response to each of the following exchanges.
49. Sarah and Kathy are talking about bad habits of children.
~ Sarah: "Children under ten shouldn't stay up late to play computer games.” ~ Kathy: " "

A. | don't quite agree with you B. You aren’t absolute right.
C. Yes, | don’t share your opinion. D. Surely, they shouldn't.
50. Daisy: "What an attractive hair style you have got, Mary!" ~ Mary: " "
A. Thank you for your compliment! B. I don't like your sayings.
C. You are telling a lie. D. Thank you very much! I am afraid.
UNIT 5: THE WORLD OF WORK
PRACTICE 3

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the
three in pronunciation in each of the following questions.

1. A. bank B. travel C. delay D. magnificent
2. A. certificate B. demonstrate C. compassionate D. attendant
3. A lag B. safari C. package D. stalagmite

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position
of the primary stress in each of the following questions.

4. A. safari B. sightseeing C. mountain D. breathtaking
5. A. covering B. applicant C. encourage D. dealership
6. A. discover B. addition C. fantastic D. habitat

Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to
the underlined word in each of the following questions.


https://www.zurich.com/

7. Frank, 41, applied for the post when the parish council advertised two vacancies.
A. occupied positions B. job opportunities
C. unavailable positions D. accommodated room
8. Sara brought in a lot of business last month; she would ask for a pay rise while she's still on a
roll.
A. unsuccessful B.ontheupandup C. inefficient D.
unqualified

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in
meaning to the underlined word(s) in each of the following questions.
9. They sacked the head of marketing because he was extremely inefficient.

A. competent B. unqualified C. disorganized D.
unskilled
10. Previously financial matters were dealt with by qualified accountants, financial
advisers.
A. professional B. experienced C. incompetent D. skilled

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that
needs correction in each of the following questions.
11. Ba told to Tuan if he could ride his bicycle to school.
A B C D

12. Phong asked Peter whether he enjoys reading books or not.

A B C D
13. Mary promised her boy friend that she would expect to see him next Wednesday.

A B C D
14. A tourist asked how far was it from Ho Chi Minh City to Hue.
A B C D
15. He asked Lan how many people there are in her family.
A B C D

Read the following passage and mark the letter A, B, C or D on your answer sheet to choose the
word or phrase that best fits each other numbered blanks.

There are several part-time job options available for high school students to pursue
alongside their studies. Here are some of the most recommended choices.

Tutoring is a great part-time job for high school students (16) ____share their academic
strengths to help others. By tutoring, students can (17) , Iimprove their communication skills,
and build
confidence. This job also offers flexible hours, making it easier to balance schoolwork and
extracurricular activities.

Babysitting is a popular choice for high school students as it provides a sense of responsibility
and helps develop interpersonal skills. Taking care of children requires patience, organization, and
(18) . Babysitting also has a flexible schedule, making it easy to work around school
responsibilities.

Working as a shop assistant is a suitable part-time job for high school students as it offers
hands-on experience in customer service and sales. This job can help students develop
communication skills and (19)

Additionally, retail positions often provide opportunities for advancement and skill
development in a team- oriented environment. These three part-time job options offer high
school students the chance to acquire essential skills, gain practical experience, and earn



extra income (20)

16. A. to allow them B. because of them allowing
C. because it allows them to D. allowing them to
17. A. reinforcing his own knowledge B. reinforce their own knowledge
C. to reinforcing my own knowledge D. to reinforce her own knowledge
18. A. the situations to be handled B. the ability to handle various situations
C. the variety of abilities to be handled D. the situations to be varied
19. A. valuable work experience is gained B. to gain valuable experience work
C. gain valuable work experience D. we work to experience a valuable gain

20. A. while fulfilling their academic responsibilities
B. despite fulfilling academic responsibilities
C. when filling with academic responsibilities
D. due to the fulfillment of academic responsibilities

Read the following passage and mark the letter A, B, C or D on you answer sheet to indicate
the correct answer to each of the questions.

Telecommuting is some form of computer communication between employees' homes and
offices. For employees whose job involve sitting at a terminal or word processor entering data or
typing reports, the location of the computer is of no consequence. If the machine can communicate
over telephone lines, when the work is completed, employees can dial the office computer and
transmit the material to their employers. A recent survey in USA Today estimates that there are
approximately 8.7 million telecommuters. But although the numbers are rising annually, the trend
does not appear to be as significant as predicted when Business Week published "The Portable
Executive" as its cover story a few years ago. Why hasn't telecommuting become more popular?

Clearly, change simply takes time. But in addition, there has been active
resistance on the part of many managers. These executives claim that supervising the
telecommuters in a large work force scattered across the country would be too
difficult, or at least systems for managing them are not yet developed, thereby
complicating the manager's responsibilities.

It is also true that employees who are given the option of telecommuting are
reluctant to accept the opportunity. Most people feel that they need regular interaction
with a group, and many are concerned that they will not have the same consideration
for advancement if they are not more visible in the office setting. Some people feel that
even when a space in their homes is set aside as a work area, they never really get
away from the office.

21. With which of the following topics is the passage primarily concerned?
A. An overview of telecommuting B. The failure of telecommuting
C. The advantages of telecommuting D. A definition of telecommuting
22. How many Americans are involved in telecommuting?
A. More than predicted in Business Week B. More than 8 million

C. Fewer than last year D. Fewer than estimated in USA Today
23. The phase “of no consequence” means .
A. of no use B. irrelevant C. of no good D.

unimportant
24. The author mentions all of the following as concerns of telecommuting EXCEPT .
A. the opportunities for advancement B. the different system of
supervision



C. the lack of interaction with a group D. the work place is in the home
25. The word “them” in the second paragraph relent to .

A. telecommuter B. systems C. executives D. responsibilities
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
26. Almost half of the __ are perfectly suitable for the vacancy.
A. employees B. competitors C. candidates D.
applications

27. Networking tools like LinkedIn, Facebook, and Glassdoor enable people to easily
the market for new job opportunities.

A. test B. monitor C. find D. consider
28. There has been an increase in job __, which is when two people agree to divide

a full-time job into part-time jobs.

A. dividing B. separating C. cutting D. sharing
29. Most job interviews today _ more than just a casual conversation with the

hiring manager to see if someone is qualified for the job.

A. indicate B. include C. contain D. involve
30. It is important that applicants put modesty aside and show ___in their CV.

A. self-confidence B. self-control

C. self-determination D. self discipline

31. Increasingly recruiters are looking for graduates who are ready for the global
and an international career.
A. workforce B. workroom C. workstation D.
workshop

32. Fixed term employment also known as contract work is used for single projects or
to replace workerson .

A. permission B. leave C. goodbye D. absence
33. Employers will often take on students fora ___ but you can also apply for as

internship after you graduate.

A. leap year B. gap year C. light year D. calendar year
34. Over the past decade, there has been a significant ____in full time work in

Australia from 89% to approximately two-thirds of the workforce.

A. increase B. reduce C. redundancy D. decline

35. A CV is a concise document which summarizes your past existing professional
skills, proficiency and .
A. qualifications B. experiences C. reputation D. feelings
36. The purpose ofa CV isto ___ that you have the necessary skills to do the job for
which you are applying.

A. determine B. express C. demonstrate D. define
37. If your CV isalways __ then you can quite easily fill in those online
applications because you have got all that information to hand.
A. out-of-date B. up-to-date C. up-and-down D. up-and-coming

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes the
following exchanges.
38. Alice meets Mary at their class after Mary has had her hair cut.
Alice: "What an attractive hair style you have got, Mary!"
Mary: “
A. Thank you very much. I am afraid B. Thank you for your compliment
C. I don't like your sayings. D. You are telling a lie



39. Tom and Tony are talking about a tennis game.
Tom: "l thought your tennis game was a lot better today, Tony".

Tony:" I'l thought it was terrible."
A. You can say that again B. Thanks! Same to you
C. No, I think so D. You've got to be kidding

Mark the letter A, B, C, or D to indicate the correct arrangement of the sentences to make a
meaningful letter of application.
a. Thank you for taking the time to consider my application. | have attached my CV
for your review and am eager to discuss how my skills could benefit your team
further.

b. | am excited to apply for the part-time shop assistant position at For Teens Shop for the
upcoming summer.

c. | look forward to hearing from you.

d. I canwork flexible hours in the summer and will do my best on the job.

e. | ama quick learner. I am also comfortable working in a fast-paced environment
and collaborating with team members to achieve common goals.

40.A.a—-b-d-e-c B.b-e-d-a-c C.a-c-d-b-e D.a—-d-e-c
—-b

Mark the letter A, B, C, or D to indicate the correct arrangement of the sentences to

make a meaningful passage about disadvantages for students who take on part-time

jobs.

a. Firstly, it can negatively impact students’ academic performance as balancing work
and studies can be challenging.

b. Secondly, long working hours and deadlines may lead to insufficient time for studying,
assighments, and exam preparation, resulting in lower grades and decreased learning
outcomes. This can be particularly difficult for students during exam periods.

c. Finally, having a part-time job also makes students stressed, exhausted, and burnt out,
which may impact their mental health with higher stress levels, anxiety, and depression.

d. Taking on part-time jobs while attending school can bring about some disadvantages.

e. In conclusion, part-time jobs can also lower academic performance and create stress.
Students should carefully consider these factors before taking on a part-time job to
balance work and study at the same time.

41. A.c—-a-b—-e—d B.d—-c—-b-a-e C.d-a-b-c-e D.d-c-e—a
-b

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning
to each of the following questions.
42. "If you passed you test, | would buy you a car', he said.
A. He said that if | passed my test, he would buy you a car.
B. He said that if you had passed your test, he would have bought you a car.
C. He said that if I had passed my test, he would have bought me a car.
D. He said that if you passed your test, he would buy you a car.
43. "'If you'd passed your test, I'd have ought you a car"’, he said.



He said that I'd passed my test, he'd have bought me a car.
He said that if | passed my test, he would buy me a car.
He said that if you had passed your test, he would have bought you a car.
He said that if you had passed your test, he would buy you a car.
44, "What a silly boy you are!"* she exclaimed.

A. She told him what a silly boy you are.

B. She told him what a silly boy he is.

C. She told him what a silly boy he was

D. She told him what a silly boy you
45. The police officer said to us, ""Where are you going?**

A. The police officer asked us where we were going?

A. The police officer asked us where were we going?

B. The police officer asked us where are we going?

C. The police officer asked us where we are going?
46. Clair asked, ""What time do the banks close?"

A. Claire wanted to know what time the banks close?

B. Claire wanted to know what time do the banks close?

C. Claire wanted to know what time did the banks close?

D. Claire wanted to know what time the banks closed?
Read the following advertisement and circle the letter A, B, C, or D to indicate the correct
option that best fits each other numbered blanks below.

oowp

Teaching Assistant wanted
We are seeking an enthusiastic teaching assistant to join our team at PNE English. As
47) teaching assistant, you will work closely with teachers to support students in their learning
and development.
Requirements:

e (48 interpersonal skills
e Patience towards students
e Abilitytowork (49) _ inateam
This is a rewarding opportunity to contribute to their academic success. If you are passionate about
education, we would love to hear (50) you.
47. A. an B. the C.a D. no article
48. A. Strength B. strong C. strengthen D. strongly
49. A. well B. good C. better D. worse
50. A. in B. about C.to D. from
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